
Opérations Mixtes (J)
Trouvez les chiffres manquants.

1 0 2 6 26 4 0 2 5 25 4 0 6 3 63 2 1 7 5 175 4 0 5 0
+ 4 7 47 ÷ ÷ 5 5 ÷ ÷ 7 7 - 9 5 95 ÷ ÷ 5
0 7 3 73 0 0 5 5 0 0 9 9 0 8 0 80 0 1 0

3 0 0 5 5 1 0 1 4 14 4 0 3 6 36 1 0 9 0 90 2 1 2 3
× × 8 8 + 2 5 25 ÷ ÷ 6 6 + 3 8 38 - 9 5
0 4 0 40 0 3 9 39 0 0 6 6 1 2 8 128 0 2 8

2 1 3 0 130 3 0 1 1 11 4 0 3 0 30 3 0 1 2 12 2 1 1 0
- 4 6 46 × 1 1 11 ÷ ÷ 5 5 × 1 0 10 - 9 0
0 8 4 84 1 2 1 121 0 0 6 6 1 2 0 120 0 2 0

2 1 3 2 132 2 0 9 0 90 2 1 0 9 109 1 0 2 7 27 1 0 8 3
- 6 9 69 - 3 1 31 - 6 1 61 + 2 8 28 + 6 1
0 6 3 63 0 5 9 59 0 4 8 48 0 5 5 55 1 4 4

2 1 5 1 151 1 0 2 3 23 1 0 3 9 39 2 1 1 2 112 4 0 4 2
- 6 4 64 + 8 3 83 + 3 8 38 - 3 9 39 ÷ ÷ 7
0 8 7 87 1 0 6 106 0 7 7 77 0 7 3 73 0 0 6

4 0 4 5 45 4 0 3 5 35 1 0 7 1 71 1 0 4 4 44 4 0 6 6
÷ ÷ 5 5 ÷ ÷ 5 5 + 7 3 73 + 9 7 97 ÷ ÷ 6
0 0 9 9 0 0 7 7 1 4 4 144 1 4 1 141 0 1 1
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